0 60000
40000
100
il e N o i, By 20000 -
200 4 e e e R Lo
] ' ' i GAIE 0 100 200 100 200
-t : - 1
300 AR o i i N o 40000 1 50000 A
I W LT Lo e, 30000 - 40000 -
400 KA TN s Ja § I T 30000 -
- e E . LTl 20000 -
1 = P L . : fom s B, 4y o 20000 -
: 10000 -
0 100 200 300 400 500 600 10000 ~
0 0-
0 100 200 0 100 200
0 0
) 100000 -
100 80000 100
60000
200 40000 - 200
20000 - 0 100 200 300
L —
300 0 - 0.2 0.4 06 O

-0.25
1 . 0 [ Fa)l) 0
400 3 :
0.8 4 ——
s 100
0.6
0.4 200
0.24—— 0 100 200 300
: B
0 ——— 0
100 60000 - 100
40000 -
200
200
20000 == 0 100 200 300
— L —
300 0 _JJ—.— 0.25 0.50 0.75
1.0+ —— 0
400 -
100
0 100 200 300 400 500 600
200
0 100 200 300
-0.3 -0.2 -0.1 0.0 0.1 0.2 ¥
0.2 0.4 0.6
0 0
100000 -
100 100
75000 ~
M 50000 200
200
25000 - 0 100 200 300
300 e 0 0.2 0.4 0.6
1.0 - 0
400
0.8+
100
0.6
0.4 200
0.2 0 100 200 300
]
0.0 - L 1.0 1.5
Q= Gn_avg 5.0 7.5
== Gnave i no
=== Gn_avg
=== (Gn_avg
Gn_avg
e (On ovug 0
50000 -
40000 100
30000 -
200
20000 A |
==t== (Gn_pct
10000 - ey 0 100 200 300
—— Gn_pot ]
R == Gn_pct 0.2 0.4 0.6
_ === (Gn_pct
0.1 =D o 0.1
1.0 e Gn_pot —————— 0
=== (Gn_pct
Gn_pct
0.8 ==o== (Gn_pct
=== (n_avg 100
==o== Gn_avg
0 100 200 300 400 500 600 0.6 —e— Gn_avg |/
=== (n_avg
0.4 - === (Gn_avg \ 200
- - m=e== (n_avg
o SRR /N
0.2 4 —e— (n_avg it 0 100 200 300
-0.075 -0.050 -0.025 0.000 0.025 0.050 0.075 g"—a"g %
—— n_av
0.0 L1 , - 0.1 0.2 0.3




